Surds and Indices
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(a) Expand and simplify (4 +V3) (4 - V3).
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®) Express 4443

in the form a + V3, where @ and b are integers




[image: image2.png]2. (a) Express V108 in the form a3, where 4 is an integer.
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(b) Express (2 —3)? in the form b+ ¢\3, where b and ¢ are integers to be found.
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[image: image4.png]2. (a) Find the value of 8°
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[image: image5.png]. (a) Write down the value of 16*

(b) Simplify (16x")’
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giving your answer in the form a + 5Y3, where @ and b are integers.
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[image: image7.png]. (a) Write down the value of 125°

(b) Find the value of 125 *
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[image: image8.png]3. Expand and simplify (V7+2)(\7-2).
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[image: image10.png]2. Given that 32Y2=2%, find the value of @
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